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27

H16 B C 184 = B C 125
H16) 21 . 22
(H16) 62 / 519 / . (H22) 40 7/ 374 /
40,400 20000 23,600
710 625
206
206 66200 / 54800 /
206 162km/h  24.0km/h
2.330m
o3 H2 |H22| 625
IR 21 21 2
202 206
H19 2 = 2
HI9 451 473
B/C HI9 158 - 103
(H16) 62 / 519 / - (H22) 40 7/ 374/
9,448 9,019
45 47
206km/h  36.5km/h
7
1,510m Hs |H22| 473 10
16m
5




(H17) 20 - 22
(H17) 120.0 - 1205
(H17) 22,082 / 42 25393 / - 27 23293 / 42 23286 /
H17) 62 / 519 / - 27 40 / 374 /
B/C (H17) 210 - 1.70
19.2Km/h(H17) 30.0km/h(H23)
1.99(H17) 0.81(H26)
2.5km
499 13 25 m H3 | H22 [ 120.5 10
5
(H18) 22 - 22
(H18) 111.0 - 1219
(H18) 625 / - 1,706 / 42 1,705 /
H18) 62 / 519 / - 27 40 / 374 /
B/C (H18) 131 - 271
H22 127,873 H23 160,210
H22 1,516 H23 6,831
68 ( ) 15
2.7km HO | H22 | 1219 10 H22 590 H23 1,155
6 10 m '




(H18) 21 - 22
(H18) 14.9 - 14.3
(H16) 287 - 234
B/C (H16) 1.47 - 1.22
0.66hr - 0.33
50
150m 5 -0
-2 450m2 4 .2
-2 255m
-2 90m S62 | H22| 143 10
B 6% 780m
75m
1 5
18 1 1
H17 21 - 22
(H17) 16.1 - (H22) 12.2
B/C (H17) 1.71 > 121
(H17) 236 / 244
1
745
1,920m2 S63 | H22| 122 10
1,920m2
152m
5 18 1 1
H17 19 - 22
H17 1596 - H22 150
B/C H17 175 - 1.65
510m
1
37,000m3 H8 [ H22 | 15.0 10
6,700m2
14,400m2
5

17 10 1




H20 22 - 21
H20 127 - 125
B/C H20 144 - 1.05
H20) 36 - 25
N=4
N=55
N=89
A 4,798m2 S61| H21| 125 10
N=167
N=278
V=4,300m3 5
H20 22 - 22
H20 120 - 12.7
B/C H20 19.08 - 12.85
H20 338 - 275
N=79
N=4
N=4
N=65 H11| H22| 127 10
N=181
N=6,500m2 5 17 1 4




